Form 603

Corporations Act 2001 Section 671B

Notice of initial substantial holder

To Company Name/Scheme	Prospect Resources Ltd	
ACN/ARSN/ABN	124 354 329	
-		_
1. Details of substantial holder (1)	
Name	JPMorgan Chase & Co. and its affiliates	
ACN/ARSN (if applicable)	NA	_

The holder became a substantial holder on 06/05/2022

2. Details of voting power

The total number of votes attached to all the voting shares in the company or voting interests in the scheme that the substantial holder or an associate (2) had a relevant interest (3) in on the date the substantial holder became a substantial holder are as follows:

Class of securities (4)	Number of securities	Person's votes (5)	Voting power (6)
Ordinary	21,703,809	21,703,809	5.01%

3. Details of relevant interests

The nature of the relevant interest the substantial holder or an associate had in the following voting securities on the date the substantial holder became a substantial holder are as follows:

Holder of relevant interest	Nature of relevant interest (7)	Class and number of securities
JPMORGAN CHASE BANK, N.A.	Purchase and sales of securities in its capacity as Principal/Proprietary	1 (Ordinary)
J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Purchase and sales of securities in its capacity as Principal/Proprietary	21,703,808 (Ordinary)

4. Details of present registered holders

The persons registered as holders of the securities referred to in paragraph 3 above are as follows:

Holder of relevant interest	Registered holder of securities	Person entitled to be registered as holder (8)	Class and number of securities
JPMORGAN CHASE BANK, N.A.	JPMORGAN CHASE BANK, N.A.	JPMORGAN CHASE BANK, N.A.	1 (Ordinary)
J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Ecapital Nominees Pty Ltd	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	21,703,808 (Ordinary)

5. Consideration

The consideration paid for each relevant interest referred to in paragraph 3 above, and acquired in the four months prior to the day that the substantial holder became a substantial holder is as follows:

Holder of relevant interest	Date of acquisition	Consideration (9)		Class and number of securities
		Cash	Non-cash	
See Appendix				

6. Associates

The reasons the persons named in paragraph 3 above are associates of the substantial holder are as follows:

Name and ACN/ARSN (if applicable)	Nature of association
JPMORGAN CHASE BANK,N.A	Subsidiary of JPMorgan Chase & Co.
J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Subsidiary of JPMorgan Chase & Co.

7. Addresses

The addresses of persons named in this form are as follows:

Name	Address
JPMorgan Chase & Co.	383 Madison Avenue, New York, New York, NY, 10179, United States
JPMORGAN CHASE BANK, N.A.	1111 Polaris Parkway, Columbus, Delaware, OH, 43240, United States
J.P. MORGAN SECURITIES AUSTRALIA LIMITED	LEVEL 18, 83-85 CASTLEREAGH STREET, SYDNEY, NS, NSW 2000, Australia

Signature

print name	Vasim Pathan	capacity	Compliance Officer
sign here	. Jests	date	10/05/2022

DIRECTIONS

- (1) If there are a number of substantial holders with similar or related relevant interests (eg. a corporation and its related corporations, or the manager and trustee of an equity trust), the names could be included in an annexure to the form. If the relevant interests of a group of persons are essentially similar, they may be referred to throughout the form as a specifically named group if the membership of each group, with the names and addresses of members is clearly set out in paragraph 7 of the form.
- (2) See the definition of "associate" in section 9 of the Corporations Act 2001.
- (3) See the definition of "relevant interest" in sections 608 and 671B(7) of the Corporations Act 2001.
- (4) The voting shares of a company constitute one class unless divided into separate classes.
- (5) The total number of votes attached to all the voting shares in the company or voting interests in the scheme (if any) that the person or an associate has a relevant interest in.
- (6) The person's votes divided by the total votes in the body corporate or scheme multiplied by 100.
- (7) Include details of:
 - (a) any relevant agreement or other circumstances by which the relevant interest was acquired. If subsection 671B(4) applies, a copy of any document setting out the terms of any relevant agreement, and a statement by the person giving full and accurate details of any contract, scheme or arrangement, must accompany this form, together with a written statement certifying this contract, scheme or arrangement; and
 - (b) any qualification of the power of a person to exercise, control the exercise of, or influence the exercise of, the voting powers or disposal of the securities to which the relevant interest relates (indicating clearly the particular securities to which the qualification applies).

See the definition of "relevant agreement" in section 9 of the Corporations Act 2001.

- (8) If the substantial holder is unable to determine the identity of the person (eg. if the relevant interest arises because of an option) write "unknown".
- (9) Details of the consideration must include any and all benefits, money and other, that any person from whom a relevant interest was acquired has, or may, become entitled to receive in relation to that acquisition. Details must be included even if the benefit is conditional on the happening or not of a contingency. Details must be included of any benefit paid on behalf of the substantial holder or its associate in relation to the acquisitions, even if they are not paid directly to the person from whom the relevant interest was acquired.

Transaction Data		Deadwork Two	Tumo of Transaction	Quantitu	Duiso (AUD)	Appendix
Transaction Date alance at start of relevant period	Entity	Product Type	Type of Transaction	Quantity 7,521,803	Price (AUD)	Consideration
7-Jan-22 7-Jan-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(210,240) 51,820	0.83	\$ 174,875.3 \$ 43,010.6
10-Jan-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(207,434)	0.87	\$ 180,793.0
14-Jan-22 17-Jan-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	1,202 (512)	0.84	\$ 1,010.7 \$ 449.9
18-Jan-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(259)	0.86	\$ 222.7
20-Jan-22 25-Jan-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	1,639 (32)	0.86	\$ 1,405.1 \$ 25.9
27-Jan-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(888)	0.80	\$ 710.5
28-Jan-22 28-Jan-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	61,806 (664)	0.83	\$ 51,358.5 \$ 552.2
31-Jan-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(85,479)	0.86	\$ 73,084.5
31-Jan-22 1-Feb-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	130,822 (147,901)	0.86	\$ 112,506.9 \$ 126,208.3
1-Feb-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	102,558	0.88	\$ 89,738.2
2-Feb-22 3-Feb-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Buy	56,743 31,800	0.86	\$ 48,515.2 \$ 26,712.0
4-Feb-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	45,355	0.84	\$ 37,871.4
7-Feb-22 9-Feb-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy Buy	46,712 38,790	0.86	\$ 39,938.7 \$ 33,553.3
10-Feb-22	J.P. MORGAN SECONTIES AUSTRALIA LIMITED	Equity Equity	Buy	30,910	0.86	\$ 33,553.3 \$ 26,582.6
11-Feb-22 14-Feb-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy Buy	70,860 72,303	0.87	\$ 61,293.9 \$ 60,200.4
15-Feb-22	J.P. MORGAN SECONTIES AUSTRALIA LIMITED	Equity Equity	Buy	35,194	0.83	\$ 28,859.0
16-Feb-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy Sell	111,099	0.82	\$ 91,417.9
16-Feb-22 17-Feb-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy	(408) 33,765	0.82	\$ 333.6 \$ 28,193.7
17-Feb-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	269,908	0.86	\$ 230,771.3
18-Feb-22 18-Feb-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Buy	36,123 25,196	0.86	\$ 30,885.1 \$ 21,668.5
18-Feb-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(28,489)	0.84	\$ 23,822.5
21-Feb-22 21-Feb-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	122,948 (128,165)	0.85	\$ 104,657.8 \$ 108,299.4
21-Feb-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	650,000	0.85	\$ 551,345.6
22-Feb-22 22-Feb-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	117,725 (138,450)	0.85	\$ 100,066.2 \$ 115,939.8
22-Feb-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	500,000	0.84	\$ 417,959.0
23-Feb-22 23-Feb-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy Sell	110,530	0.88	\$ 96,969.3
23-Feb-22 23-Feb-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy	(5,000) 134,241	0.88	\$ 4,400.0 \$ 116,789.6
23-Feb-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	777,193	0.85	\$ 660,244.8
24-Feb-22 24-Feb-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	81,048 (129,241)	0.86	\$ 70,096.9 \$ 110,501.0
24-Feb-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	372,822	0.83	\$ 308,361.0
24-Feb-22 24-Feb-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	1,868,871 (78)	0.85	\$ 1,589,147.7 \$ 66.2
25-Feb-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	112,949	0.89	\$ 100,310.6
25-Feb-22 28-Feb-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Buy	80,692 36,297	0.91	\$ 73,026.2 \$ 31,396.9
28-Feb-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(80,692)	0.86	\$ 69,464.1
28-Feb-22 1-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Buy	1,005,857 114,050	0.85	\$ 855,405.9 \$ 99,705.2
1-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	1,034,800	0.85	\$ 880,019.7
2-Mar-22 2-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Buy	119,606 37,955	0.87	\$ 103,705.1 \$ 32,277.8
3-Mar-22	J.P. MORGAN SECONTIES AUSTRALIA LIMITED	Equity	Buy	95,697	0.87	\$ 82,777.9
4-Mar-22 4-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy Buy	90,458 78,898	0.85	\$ 77,099.9 \$ 67,256.7
7-Mar-22	J.P. MORGAN SECONTIES AUSTRALIA LIMITED	Equity Equity	Buy	95,879	0.85	\$ 67,256.7 \$ 82,570.5
7-Mar-22 7-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	255,746	0.85	\$ 218,267.1
8-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Buy	100,000 84,327	0.85	\$ 85,085.0 \$ 71,677.9
8-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	1,332,430	0.85	\$ 1,128,465.6
8-Mar-22 9-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Buy	415,487 84,228	0.85	\$ 353,686.2 \$ 70,515.2
9-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	404,693	0.84	\$ 341,250.0
9-Mar-22 10-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Buy	300,000 37,388	0.84	\$ 250,695.0 \$ 31,779.8
11-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	25,934	0.85	\$ 21,914.2
14-Mar-22 14-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Buy	76,956 690,448	0.86	\$ 65,797.3 \$ 587,182.5
14-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(19,316)	0.85	\$ 16,418.6
14-Mar-22 15-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Buy	19,316 18,054	0.86	\$ 16,598.3 \$ 15,323.8
15-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	496,115	0.85	\$ 419,382.8
15-Mar-22 16-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Buy	178,022 63,741	0.84	\$ 149,722.3 \$ 54,179.8
16-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	42,627	0.87	\$ 37,140.3
16-Mar-22 17-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(42,627) 41,059	0.84	\$ 35,593.5 \$ 35,310.7
17-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	334,341	0.87	\$ 289,421.9
17-Mar-22 17-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell Buy	(885) 885	0.87	\$ 769.9 \$ 765.5
18-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy	39,566	0.89	\$ 35,213.7
18-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(1,355)	0.87	\$ 1,172.
18-Mar-22 18-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Buy	1,355 154,347	0.90	\$ 1,218.9 \$ 136,823.0
18-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(166,528)	0.87	\$ 144,046.
18-Mar-22 21-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Buy	166,528 51,912	0.90	\$ 150,358. \$ 46,255.
21-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	258	0.89	\$ 230
21-Mar-22 21-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(258) 24,775	0.89	\$ 229 \$ 22,125
21-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(24,775)	0.89	\$ 22,049
22-Mar-22 22-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy Buy	50,738 410	0.91	\$ 46,101 \$ 370
22-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(410)	0.89	\$ 362
22-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	20,000	0.90	\$ 18,021
22-Mar-22 22-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Buy	31,546 14,000	0.91	\$ 28,706 \$ 12,614
22-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	32,749	0.90	\$ 29,617
22-Mar-22 23-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell Buy	(32,749) 44,106		\$ 28,982 \$ 39,970
23-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(22,422)	0.91	\$ 20,291
23-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(10,038)	0.91	\$ 9,134.
23-Mar-22 24-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Buy	10,038 33,808	0.91	\$ 9,099. \$ 30,427.
24-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	43,000	0.89	\$ 38,465.
24-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(9,313)	0.89	\$ 8,295.

FOR RELEVANT PERIOD						Appendix
24-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	1,957,283	0.89 \$	1,750,1
24-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	39,000	0.90 \$	34,9
24-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	2,319	0.90 \$	2,0
24-Mar-22 25-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buv	(2,319) 32,823	0.91 \$	2,0
25-Mar-22	J.P. MORGAN SECONTIES AUSTRALIA LIMITED	Equity	Buy	6,000	0.90 \$	5,3
25-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(14,138)	0.89 \$	12,6
25-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(4,155)	0.90 \$	3,7
25-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	4,155	0.89 \$	3,6
28-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	45,948	0.88 \$	40,5
28-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	3,000	0.88 \$	2,6
28-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(155,953)	0.88 \$	137,3
29-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	31,798	0.88 \$	27,9
30-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	39,960	0.87 \$	34,8
31-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	38,864	0.90 \$	34,9
31-Mar-22 31-Mar-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	2,127 (2,127)	0.90 \$	1,9
1-Apr-22	J.P. MORGAN SECORITIES AUSTRALIA LIMITED	Equity	Buv	8,468	0.91 \$	7,
1-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(11,000)	0.91 \$	9,
1-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(17,000)	0.91 \$	15,
1-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(8,726)	0.90 \$	7,
1-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	51,330	0.91 \$	46,
4-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	36,328	0.91 \$	32,
4-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	11,234	0.91 \$	10,
4-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(48,955)	0.90 \$	44,
5-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	10,000	0.89 \$	8,
5-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	4,000	0.89 \$	3,
5-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(4,883)	0.89 \$	4,
6-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	9,469	0.89 \$	8,
7-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	27,673	0.90 \$	24,
7-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	18,537	0.89 \$	16,
7-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(9,000)	0.89 \$	7,
7-Apr-22 8-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buv	(11,000) 24,513	0.89 \$	9, 21,
8-Apr-22	J.P. MORGAN SECORITIES AUSTRALIA LIMITED	Equity	Buy	3,282	0.89 \$	21,
8-Apr-22	J.P. MORGAN SECORITIES AUSTRALIA LIMITED	Equity	Sell	(33,000)	0.89 \$	29,
8-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(29,000)	0.89 \$	25,
11-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	14,247	0.91 \$	12,
11-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	123,989	0.91 \$	112,
11-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	11,292	0.91 \$	10,
12-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	7,233	0.92 \$	6,
12-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	408,880	0.93 \$	379,
12-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	33,309	0.91 \$	30,
13-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	38,755	0.91 \$	35,
13-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(15,192)	0.91 \$	13,
14-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	14,737	0.89 \$	13,
14-Apr-22 14-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(61,230)	0.87 \$	53,
14-Apr-22 19-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell	(29,409) (68,036)	0.88 \$	25,
19-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(29,000)	0.89 \$	25,
19-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	70,259	0.88 \$	62,
20-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	21,418	0.91 \$	19,
20-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	13,212	0.92 \$	12,
20-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(16,004)	0.91 \$	14,
20-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	21,281	0.91 \$	19,
21-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	11,942	0.99 \$	11,
21-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	445,363	0.97 \$	433,
21-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(2,623,420)	0.97 \$	2,544
21-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	613,554	0.99 \$	605
22-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	9,417	0.95 \$	8
22-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	56,224	0.95 \$	53,
22-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(11,967)	0.95 \$	11
22-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	43,721	0.95 \$	41,
22-Apr-22 26-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buv	(41,272) 21,725	0.95 \$	39,
26-Apr-22 26-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(166,727)	0.95 \$	20,
26-Apr-22 26-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	536,386	0.94 \$	505
27-Apr-22	J.P. MORGAN SECONTIES AUSTRALIA LIMITED	Equity	Buy	22,512	0.95 \$	21
27-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	19,120	0.95 \$	18
27-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(177,239)	0.95 \$	167
27-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	632,261	0.95 \$	597.
28-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	12,884	0.95 \$	12
28-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(95,813)	0.95 \$	90
28-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	250,000	0.95 \$	236
29-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	24,466	0.96 \$	23
29-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(4,796)	0.96 \$	4
29-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(30,133)	0.96 \$	28.
29-Apr-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	1,000	0.96 \$	21
2-May-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	22,465	0.98 \$	21,
2-May-22 2-May-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	20,000 (1,091,099)	0.97 \$	19, 1,058,
2-May-22 2-May-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	26,000	0.97 \$	1,058, 25,
2-May-22 2-May-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	15,000	0.97 \$	25,
3-May-22	J.P. MORGAN SECONTIES AUSTRALIA LIMITED	Equity	Buy	12,238	0.97 \$	11,
3-May-22 3-May-22	J.P. MORGAN SECONTIES AUSTRALIA LIMITED	Equity	Sell	(395,574)	0.98 \$	385,
4-May-22	J.P. MORGAN SECORITIES AUSTRALIA LIMITED	Equity	Buy	7,000	0.96 \$	6,
5-May-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	14,702	0.96 \$	14,
5-May-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	10,000	0.96 \$	9
5-May-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	5,000	0.96 \$	4,
5-May-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(1,000)	0.96 \$	
6-May-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	12,000	0.96 \$	11,
6-May-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	1,000	0.96 \$	
6-May-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	53,071	0.95 \$	50,
6-May-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	9,000	0.96 \$	8,
6-May-22	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	161,020	0.95 \$	152,